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ZE B m # # 144,003 365,469 173,963 191,506
SHEHNE ANEFEFH 1,997 2,928 1,325 1,603
[SfrithX]) 5,882 15,130 7,288 7,842
JH 25 K HT 37 81 33 48
8 _E BT 59 142 64 78
A3 H R AT 32 66 32 34
Jt 3 HERHET 21 51 22 29
JIAGRET 78 179 83 96
5\ ERET 68 165 70 95
cp fiE) P4 BT 43 89 40 49
ERigadi] 104 202 90 112
B A 7K HT 104 243 109 134
i =] HT 214 580 272 308
FHHE 73 180 77 103
JI|_ERT 738 1,615 756 859
Ed ) 181 355 182 173
At 10 5 BT 38 105 45 60
S IEZRHET 64 138 60 78
e =Ead:l 51 117 61 56
7}<F'EJI11T 67 161 72 89
E == e T 28 49 24 25
A% 3 HT 597 1,392 710 682
= BxET 464 1,247 609 638
HFW—TH 311 846 416 430
FIWLW=TH 159 504 241 263
FW=TH 268 695 324 371
FWETH 145 468 238 230
SWWETH 145 465 224 241
FSRTH 206 625 302 323
SWETH 299 854 402 452
FW/NTHE 298 869 405 464
ERE—TH 4 7 5 2
EBRE=ZTH 469 1,392 695 697
ERE=TH 315 870 427 443
R EFET 202 378 198 180
[REHX] 6,111 14,611 6,948 7,663
e 1= e mT 25 70 29 41
REyEFHT 19 44 20 24
ch e ET 29 71 31 40
ae HT 46 117 51 66
NN T 29 69 27 42
f& 2 FlT 39 120 55 65
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& 5 A T 20 52 24 28
~+ B F5E BT 32 79 36 43
JIl 2 £ 3SR T 44 107 47 60
Il 2 _ER/T 20 44 22 22
Fith 2 NHT 49 119 50 69
il 5T T 28 49 22 27
HEEmE AT 41 99 43 56
EE/PHHET 28 68 32 36
& 23R HT 12 24 9 15
ho 3F BT 1,002 2,295 1,068 1,227
Pik il 97 194 81 113
= H BT 1,546 3,735 1,804 1,931
=EE 578 1,430 699 731
HAicFEI—TH 287 629 294 335
RicFEIZTH 158 356 168 188
RicFET=TH 342 721 330 391
mieFH—TH 147 297 143 154
i =TH 419 1,125 559 566
BT =TH 458 1,182 570 612
AL FHETH 281 784 374 410
B FETATH 335 731 360 371
[(FE#hX] 8,116 19,061 9,106 9,955
ch ¥h = T 33 81 39 42
< T EHT 16 51 22 29
JC L FHT 54 136 59 77
FH_EHT 23 62 30 32
dhat HT 278 723 335 388
R AT 405 923 433 490
fgh P BT 31 68 30 38
= {E1 P ET 40 112 53 59
fZ 5 ET 19 50 18 32
F5$T EHT 33 93 44 49
= FRHET 1 1 0 1
B AR HT 119 232 111 121
ne JI| BT 27 73 33 40
1E EIET 19 41 18 23
REH 138 238 119 119
b AR ET 142 322 148 174
A IR AR HT 600 1,551 741 810
IR H& dth 75 S (R BT 97 248 122 126
Rk Hh 75 PRI AT 32 78 35 43
FA kP HT 97 211 102 109
A Fh T 7 20 11 9
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FA S HT 83 173 82 91
A& = T 27 50 26 24
/INKERET 19 55 27 28
A T ET 70 113 48 65
HIET 25 34 19 15
RFxHET 617 1,460 720 740
RFxFEHET 331 753 360 393
Lt Sunl:i] ] 1,208 2818 1,331 1,487
EalcNEL 102 222 89 133
il 571 1,234 574 660
Fa T iR ET 182 441 226 215
FEKHT 569 1,241 580 661
AREET—TH 716 1,742 841 901
FAREEI=TH 90 147 75 72
EAREEI=TH 256 694 316 378
AREEETH 466 1,159 589 570
AREEATH 174 457 227 230
FARIRETARTH 40 85 47 38
ARt TH 359 869 426 443
[#EFHHX] 1,241 2,754 1,190 1,564
B 3F #RHET 35 76 35 41
75 3 #RHET 44 101 44 57
4 fE P ET 52 115 53 62
A 2 BT 6 18 8 10
A i T 64 125 47 78
JC PR R5E T 27 58 22 36
¥EAHT 24 66 32 34
¥& FHT 8 25 12 13
Bt B i T 72 177 78 99
¢ BAR5E T 13 37 17 20
Tt P ET 37 83 40 43
i Fa B BT 38 88 39 49
Jt =My 39 88 35 53
Bl =7 5 BT 10 21 11 10
Bk T 114 215 98 117
¥ FHHET 71 178 76 102
A RET 50 88 36 52
AR E T 11 26 12 14
L =50 26 71 31 40
B F<rHET 46 86 36 50
FHT 57 111 39 72
Jt [ BT 28 78 40 38
A FSPHT 15 41 19 22
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/N IHET 42 81 31 50
P35k 7 ET 35 81 38 43
JtJEl = HT 26 54 22 32
55 35 HT 3 7 2 5
B [T 22 55 24 31
B[] Fp T 23 68 30 38
75 {1 5 BT 6 13 6 7
/NFRHET 58 111 32 79
/N ERET 35 80 39 41
= X HET 19 39 20 19
;£ [E HT 40 94 44 50
& KERHET 45 99 42 57
CREIEY 7,154 16,838 7,756 9,082
op 5 T 39 79 39 40
B AL ET 37 80 39 41
RE AT 20 39 13 26
REZLIZEIRET 59 115 52 63
th R BT 41 77 34 43
162 HT 50 91 33 58
1& P BT 10 25 9 16
#a = M7 41 89 36 53
X HZEHRET 17 43 22 21
Jt /) ERET 68 90 24 66
a3 H FA AT 35 75 31 44
a3 H h AT 41 83 38 45
Jt 3 HFa ] 41 83 30 53
Jt 3 H A ET 33 83 36 47
= FHEHET 106 119 9 110
FR/INERET 15 32 13 19
e 34 81 38 43
LR ERET 13 25 12 13
= X 1 T 98 198 93 105
75 £ 54 HT 208 435 213 222
J6 )11 um BT 51 114 50 64
Jt LS HT 118 245 96 149
75 2 K BT 97 243 95 148
% P HT 65 144 66 78
B 3 = BT 58 112 44 68
B2 T 28 49 24 25
FAETE R SRl 12 25 10 15
T TE R ET 31 80 38 42
(= Rl 17 40 17 23
AR HET 93 187 82 105
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Y8 = BT 1 4 2 2
A tEHET 68 135 65 70
T ET 239 594 279 315
SEEESTHET 1,639 4,104 1,988 2,116
pra Al 3,537 8,580 3,979 4,601
= H B ET 94 240 107 133
[(XE#X] 9,248 20,648 9,746 10,902
= KHEHT 559 1,367 655 712
= KXKHET 472 1,150 544 606
=] FaRT 174 435 211 224
= &HT 645 1,511 702 809
T=5&H0H 40 95 44 51
St FHT 53 123 54 69
74 2 R BT 101 166 79 87
sH B th 75 BT 5 20 13 7
S B BT 213 426 204 222
= & KHET 478 964 447 517
=& =HIHET 247 561 259 302
=&iRIIIET 385 790 364 426
=& KX=H] 339 761 358 403
K=B—TH 590 1,300 596 704
AEBRZTH 952 2,381 1,123 1,258
RKER=TH 649 1,324 633 691
KXERMUTH 904 2,062 968 1,094
RKEBRATH 56 127 57 70
K=HEI/RTH 114 177 96 81
KEBETH 142 312 146 166
& it BT 261 575 272 303
citB—TH 221 515 242 273
B —TH 478 1,091 513 578
ZitBI=TH 624 1,256 605 651
ZtBTMTH 546 1,159 561 598
[(XZFHX] 4,356 11,336 5,500 5,836
KL FH 57 175 98 77
ZNE—TEH 347 950 465 485
TNE_TEH 319 884 435 449
TRDE=TH 398 1,065 510 555
D FERHT 83 269 137 132
PN 299 785 350 435
icEN:] 317 898 420 478
J\SEHT 42 111 58 53
I\E&—TH 175 465 222 243
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J\&_TH 2 9 5 4
J\E=TBH 17 48 26 22
J\EWMTH 1 1 1 0
JNERTH 26 63 34 29
RELEFH—TH 112 335 163 172
RELEFHB_TH 1 2 1 1
KEFH=TH 111 308 153 155
K&EF—TH 285 664 315 349
AX&ZF_-TH 232 580 271 309
KEZF=TH 285 670 326 344
KEZFMUTH 231 661 311 350
KEFRTH 330 742 382 360
RELZFNTH 330 756 381 375
X&EFETH 356 895 436 459
[ &R it X ) 12,824 33,730 16,148 17,582
EE&—TH 157 366 166 200
FE-TH 270 648 310 338
FE&=TH 255 697 348 349
et JL BT 180 435 201 234
fExt AT 214 526 258 268
JExt FEHT 125 309 147 162
JE kBT 44 157 85 72
JExt FRHET 76 179 85 94
& FE ET 114 293 131 162
Jt T 13 26 11 15
A T HT 52 177 95 82
& 2T 982 2,625 1,251 1,374
RFERB—TH 293 832 397 435
REB_TH 238 574 261 313
FKHT 198 593 276 317
RIS HT 151 446 216 230
FEMHE—TH 408 1,168 566 602
FEXMH=TH 124 362 180 182
/\xlﬂT 252 701 336 365
/\* TH 662 1,724 821 903
/\* —TH 306 942 458 484
NEZ=TH 267 679 327 352
NEZET—TH 108 253 114 139
NEHZETZTH 187 468 213 255
NEHZET=TH 128 377 179 198
£ KHT 104 293 145 148
tEEE—TH 669 1,743 819 924
t&—TH 621 1,549 750 799




IHT%FJ'IJTE‘ #HEUAO TR174E3B 1B BT

T HHF A a 5 =
+t%&_-TH 24 24 2 22
75/ R HT 343 822 372 450
L EHE 129 345 167 178
—&BI—TH 121 282 132 150
—&B—TH 150 331 155 176
—&B=TH 85 214 94 120
RER—TH 380 920 422 498
NEB_TH 139 424 199 225
NER=TH 654 1,768 850 918
NERBIETH 286 645 295 350
NEBATH 303 900 437 463
RNERATH 174 532 242 290
—E&ERXKE—TH 40 79 44 35
—ERXKE-ZTH 44 124 61 63
—ERXKRE=TH 46 115 55 60
—ERXKEMTH 52 147 74 73
—EXKKEARTH 108 254 124 130
=&XKK—TH 299 643 320 323
=FXKKZ-TH 73 176 86 90
=FXKK=TH 118 280 141 139
=FXKKRIETH 105 260 123 137
=FXKKATH 134 333 171 162

EX—TH 789 2,079 1,033 1,046
MEXK-TH 300 854 406 448

EXK=TH 319 859 419 440
NEXEIMTH 201 563 275 288
MEXKRATH 210 615 303 312
[Fimith X ] 7,215 19,371 9,335 10,036
TR EEHT 1,124 3,219 1,583 1,636
LI BT 1,479 4,092 1,992 2,100
LLI &£ BT 1,240 3,191 1,541 1,650
A 4% T 1,439 3,853 1,817 2,036
NiEE AT 414 904 424 480
WE=FIBT—TH 244 588 287 301
WE=FIBT=TH 151 400 192 208
TN Fr ET 137 320 164 156
HER—TH 500 1,430 700 730
HER_TH 332 942 431 511
B b T 155 432 204 228
[(KR#HX] 11,136 27,026 12,922 14,104
FE R I/ NS HET 185 392 196 196
5 KT HET 186 384 182 202
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PR FFHhET 208 594 291 303
K F SR 112 351 166 185
BAXFELE 155 346 168 178
75 K3 HT 46 85 45 40
= RET 1,264 3,279 1,580 1,699
5 FPHT 356 857 429 428
=E8—TH 140 363 163 200
EEESE-TH 166 413 198 215
EE=5=TH 214 468 238 230
EERMNTH 106 306 150 156
JE H BT 162 491 239 252
= kM7 106 306 141 165
A HB—TH 85 232 96 136
AHB_TH 176 450 222 228
AHB=TH 160 481 216 265
AHBMTH 62 171 80 91
AHBATH 213 620 296 324
FAAFEE—TH 125 239 119 120
FAAFERE_TH 21 48 21 27
FARFHET—TH 486 1,113 548 565
FARFHETZTH 173 422 208 214
P R FAHT 251 451 202 249
P8 K 3F K HT 78 156 70 86
P R F AT 235 507 237 270
ARFER—TH 877 1,732 807 925
ARFERBIZTH 190 435 203 232
FEAFIE—TH 216 456 206 250
BAFIHZ=TH 106 319 157 162
BAAFIH=TH 156 268 126 142
AAFIHETH 163 387 181 206
AAFZH—TH 288 637 316 321
AAFZH=TH 270 641 331 310
ARFEHEHEI—TH 183 434 201 233
ARFHEEIZTH 122 288 137 151
AAFEETH—TH 155 407 204 203
BAAFEIH=TH 15 18 10 8
FARFHRE—TH 256 519 250 269
FARXFAEBZTH 187 498 237 261
=X—TH 276 747 362 385
TFFE-TH 269 654 329 325
EEX=TH 215 518 247 271
EXMETH 209 545 248 297
=EXATH 27 50 24 26
EW—TH 397 936 437 499
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EMZ-TH 300 814 383 431
EM=TH 254 669 304 365
EETH 250 712 339 373
EMATHE 284 817 382 435
[HosithihX]) 3,432 8,474 4,017 4,457
HOOHME—TH 421 1,004 447 557
HPOOHME_TH 297 678 327 351
HPOOHME=TH 362 914 430 484
HOOHMEETH 243 584 271 313
HOOHMEATH 292 728 348 380
HOHMESRTH 580 1,345 644 701
HOOHMEETH 337 920 472 448
HOHME/\TH 175 474 233 241
HroHMIE—TH 164 453 218 235
HYOHMIL=TH 161 412 175 237
HYHMIL=TH 400 962 452 510
[ZFEHX] 11,493 28,572 13,494 15,078
FEE—TH 272 646 290 356
FEFE_TH 376 969 416 553
FEFE=TH 362 822 384 438
FEXFET—TH 338 855 396 459
FEXMET=TH 498 1,330 638 692
FEXMET=TH 341 884 398 486
FEXMETETH 307 790 345 445
FEXMETATH 534 1,317 672 645
FEXFMET/RTH 705 2,088 1,035 1,053
FEI—TH 258 631 286 345
PEI-TH 222 573 262 311
& 50 B ET 820 1,845 868 977
FEEHTA—TH 393 1,071 524 547
FHEEHTEIZ=TH 471 1,335 643 692
EEEEL 1,260 2,369 1,077 1,292
foSEPHET 1,420 3,199 1512 1,687
BEE—TH 481 1,219 587 632
BEE_-TH 150 381 166 215
BEE=TH 142 365 182 183
BEEMNTH 187 521 257 264
BEEREARTH 279 759 379 380
hIUETFE—TH 90 249 116 133
b LBAfE=TH 274 787 372 415
hIUETFER=TH 409 1,115 531 584
b UETFRETH 342 919 443 476
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EAHET—TH 213 601 274 327
ESERT—TH 349 932 441 491
(X7 k] 9,491 24,350 11,398 12,952
ZESE—TH 65 184 84 100
BEFE_TH 95 243 102 141
B2E+E=TH 186 449 188 261
HZE~,ENTH 197 427 219 208
Z2EsERATH 264 692 313 379
BESHENRTH 209 536 239 297
BAEXrkE 439 983 506 477
h&EXsE—TH 2,303 5,237 2,456 2,781
h&EX,sE-TH 203 525 251 274
h&EX,sE=TH 130 392 202 190
h&EX~,EMTH 756 2,244 1,076 1,168
mEEsE—TH 389 1,025 477 548
AEELsEZTH 611 1,460 680 780
AEESFE=TH 244 636 291 345
AEESyEMTH 345 883 406 477
AEESERTH 283 732 342 390
AEESLRENTH 431 1,178 536 642
mEEyEETH 215 571 266 305
mEEsRE/IN\TH 391 1,028 485 543
BEEyE—TH 157 383 177 206
REEXEsEZTH 252 660 308 352
REEXESsE=TH 30 73 29 44
REEsyENTH 177 503 230 273
BREEsyERTH 202 527 252 275
REETEARTH 176 539 244 295
t&ErE—TH 117 357 168 189
t&EyEZTH 96 304 143 161
t&EyE=TH 147 481 215 266
t&EyENTH 147 401 181 220
t&EEyERTH 158 471 220 251
t&EXSENRTH 76 226 112 114

EHX) 21,416 57,259 27,189 30,070
—4%—TH 40 118 54 64
—%_-TH 383 1,109 538 571
—&=TH 194 454 206 248
—&MmTH 176 500 231 269
—_ZATH 33 89 41 48
—4&RTH 6 16 6 10
—&%tTH 1 2 1 1
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—ATFEH— TE 35 130 63 67
—ZTH_-TH 51 176 82 94
— KA 69 213 107 106
=— 371 1,017 484 533
=W="TH 409 1,266 630 636
=W=TH 159 421 201 220
=¥AMTH 68 214 100 114
= HMERT 236 710 348 362
EHTET—TH 798 1,893 885 1,008
EHTAI—TH 293 557 254 303
=TI =TH 109 242 125 117
EHTTETET B 259 638 299 339
=¥y E 271 726 332 394
=i)IIFE—TH 418 1,179 569 610
=B =TH 206 629 320 309
ch HT 850 2,562 1,221 1,341
FIFW—TH 551 1,622 762 860
=IZIL—TH 361 1,016 496 520
FIFELU=TH 273 700 313 387
SLLU—TH 236 710 338 372
FIWW=TH 271 812 384 428
EfRTE 281 757 346 411
KIZHT 299 363 135 228
=HEa 370 955 468 487
B/ RKeE—TH 480 1,260 600 660
B/ AE=TH 305 815 392 423
B/ AE=TH 378 1,060 497 563
B/ RKEWETH 97 251 114 137
= = $7 HHET 285 878 424 454
FEIFRRET 148 398 202 196
L) 92 229 119 110
A KHT 140 447 211 236
X F0 H HT 113 378 185 193
FHKyE—TH 332 903 427 476
FH5E_TH 323 773 341 432
FHKE=TH 248 672 297 375
HiEE—TH 77 221 118 103
HFHEEZTH 72 190 86 104
HEE=TH 92 258 124 134
ERBI—TH 260 622 289 333
ERR_TH 314 813 367 446
ERBI=TH 449 1,149 552 597
ERBMNTH 1,610 3,387 1,608 1,779
BmTFyE—TH 236 729 352 377
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EH%ITE_T B 251 751 361 390
AFRyE=TH 221 638 307 331
FEHEyE—TH 169 427 202 225
FEHyE=TH 170 458 213 245
FEHyE=TH 163 443 198 245
FEF—TH 59 163 80 83
SEGD-TH 23 78 40 38
FEH=TH 236 636 296 340
FEHMNTH 235 614 274 340
FEHRTH 433 1,339 665 674
FIEIUE—TH 124 335 155 180
FIFWUE_—TH 225 610 296 314
FIFIUE=TH 170 479 215 264
FIFIUEMTE 199 535 262 273
FIFIUERTH 167 489 221 268
FIFWLUMTH 158 424 195 229
FIFELUATH 123 317 156 161
FIFWATH 395 1,021 467 554
Eifdt—TH 763 2,080 1,002 1,078
EHI_—TH 351 794 384 410
EE.TEjt—T B 928 2,646 1,294 1,352
WEE—TH 169 437 189 248
A ’a‘m—TE 260 695 329 366
WEE=TH 193 511 242 269
MI&-’-‘.T B 157 439 220 219
=M—TH 222 588 273 315
=H#_-TH 87 215 105 110
=M=TH 184 522 262 260
=HETH 32 77 36 41
=MARETH 122 385 198 187
=H/RTH 148 420 194 226
=mEtTH 13 33 15 18
G AL 138 431 199 232
[ Ihh X ] 2,126 6,111 2,961 3,150
#HI—TH 629 1,452 686 766
#HIW=TH 181 495 241 254
#MIN=TH 258 803 396 407
I T B 325 984 469 515
#MINAETH 296 948 462 486
#INRTH 437 1,429 707 722
[Exih[X ] 2,393 5,968 2,795 3,173
£R=—TH 10 17 10 7
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£R=TH 1,384 3,165 1,467 1,698
£R=TH 345 929 442 487
£R=MUTH 230 581 269 312
ERATH 424 1,276 607 669
[(REH#X] 2,559 7,316 3,480 3,836
X¥E—TH 317 961 459 502
£E-TH 213 575 271 304
X¥%=TH 429 1,176 553 623
KEMTH 335 891 418 473
KREZRTH 983 2,831 1,355 1,476
XK¥EKRTH 282 882 424 458
[ERE#hX] 2,102 6,380 3,078 3,302
ER=—TH 369 1,106 532 574
ERZ=TH 845 2,539 1,218 1,321
ER=TH 645 2,031 991 1,040
ERMTH 242 703 336 367
ERZATH 1 1 1 0
[EriihX] 4,781 11,516 5614 5,902
RALEHT 3,625 8,678 4,196 4,482
75 LS HT 120 360 179 181
AT 565 1,330 660 670
AAKE—TH 90 231 124 107
FAAEHI=TH 168 392 191 201
FEAEH=TH 209 519 260 259
FAEHETH 3 5 3 2
FEAEHATH 1 1 1 0
[BREHBIX] 3,547 9,530 4,671 4859
At 7k FET 536 1,539 745 794
dt 2 FEHT 264 726 359 367
FAJK FHT 748 1,982 959 1,023
£ BT 1,668 4,465 2,201 2,264
Hi = E T 237 655 306 349
Itz EMBET—TH 73 131 78 53
Itz ERET=TH 21 32 23 9
[EhihX] 3,420 7,833 3,710 4123
=l 2,238 4,946 2,288 2,658
Y& FHET 2 2 2 0
J\EHT 65 206 92 114
ERKHET 3 6 3 3
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Sl 209 536 267 269
e [ T 271 733 371 362
BEH-—TH 236 477 228 249
MH_—TH 198 428 211 217
BH=TH 66 226 111 115
BHITH 4 6 3 3
BAHATH 108 217 107 110
HHNATH 13 26 15 11
BHETH 7 24 12 12
[FfEh X ] 1,475 3,963 1,927 2,036
FEZEHRT 158 481 233 248
;th B AT 59 189 91 98
LI T 260 815 407 408
S ThHr 554 1,393 706 687
5 EMT 51 122 54 68
HH ch T 393 963 436 527
[(FBEHMX] 324 1,061 514 547
KAHT 54 173 85 88
KA ET 50 175 83 92
6 2 < T 15 49 23 26
A& E T 10 32 16 16
L ER/T 42 143 75 68
=R ILHET 20 64 32 32
= b BT 118 380 179 201
i Z2 ek T 15 45 21 24
[AE#HX] 770 2,255 1,095 1,160
¥ H BT 28 108 55 53
Z AT 91 177 69 108
X HIRHET 84 324 165 159
RAH 33 112 55 57
AL/ )1 BT 125 180 108 72
A HH [ T 40 106 46 60
th 2z FEHT 28 111 51 60
th E HT 8 30 15 15
KEFHT 17 58 27 31
=k 33 113 55 58
2T 21 64 30 34
lae L0 18 63 28 35
A0 H ET 29 108 52 56
ZB L HT 18 68 35 33
£ ZFRHET 31 112 53 59

_14_




BT & A tHEHEUAO ER17E3 A1 ABRE
i) £ HHE | A A 5 S

HIE & 3 EHT 29 81 38 43
JK I ET 113 360 170 190
Al Fir BT 24 80 43 37
CIEFTH=Y] 462 1,445 688 757
A0 A BT 96 308 146 162
N 86 180 89 91
i 4 [ T 48 164 79 85
&= 1h BT 110 358 167 191
RERHET 40 147 68 79
F 4 Hy 61 213 106 107
Jt B7 LI HT 21 75 33 42
[RHnAE#h X ] 394 1,291 606 685
R4 BT 149 495 236 259
B J& BT 116 373 177 196
R EHT 36 139 68 71
A E | LHET 50 151 64 87
REALET 43 133 61 72
[EEE#IX] 336 1,032 496 536
&)’y 115 392 177 215
A FEHT 30 110 58 52
L AT HT 33 79 36 43
= EH BT 3 6 4 2
S5 KT 24 71 37 34
AT EHET 46 115 53 62
% AT 19 56 28 28
HOE I AT 20 68 35 33
ch /I BT 46 135 68 67
CGIETI) 199 608 291 317
£ )1 g BT 28 95 42 53
FE %K) 1| ET 30 86 40 46
S INEX:) 21 67 27 40
T3E)I BT 108 318 158 160
[ [ BT 12 42 24 18
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